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w '_L;. itt ‘&’ ﬁ Calcular porcentajes de nimeros

Nombre: Fecha: Puntuacion:
24 x30% = 79 X 90% =
82 x70% = 22 x30% =
41 x 40% = 24 x 60% =
20 x 40% = 67 < 40% =
53 x 80% = 16 x 60% =
48 x 10% = 59 x90% =
47 x 20% = 23 x 80% =
90 < 10% = 73 x 10% =
36 < 80% = 40 x 50% =
47 < 90% = 12 x 60% =
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Calcular porcentajes de nimeros

Nombre:

24 x30% = 7.2

82 x70% =574

41 x40% = 16.4

20 x40% = 8

53 x 80% = 42.4

48 x 10% = 4.8

47 x20% = 9.4

90 < 10% =9

36 x 80% = 28.8

47 x 90% = 42.3

Fecha:

79 x90% = 71.1

22 x30% = 6.6

24 x60% = 14.4

67 x40% = 26.8

16 x 60% = 9.6

59 x 90% = 53.1

23 x 80% = 18.4

73 x 10% = 7.3

40 % 50% = 20

12 x 60% = 7.2
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Puntuacion:
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